é’aaa‘szangma

Y a
GRRLERS Y14
THUMBSCREW AND SCREW SWIVEL CASTERS

Foudow  K-415EA, K-420EA, K-415A, K-420A

K-415EA K-420EA

Arnndn Lidwsn

Annnwman wleuiusn

K-415A K-420A

Anman wisauIn

ANMMWLLAK  Feature

® K-415EA, K-415A Sadaldusinvinieiuin
o liUsznauny K-420A, K-415A 16

o M IndanNFURHgUINaIRauazIngRan NI H Wl

nvnndn laifiisn

@0

© K-415EA and K-415A use stopper to positively lock the wheel.
© K-420A and K-415A can be used together.
® Select wheel material and diameter according to your application.

doya e dm:
Swwz fgdnach: ukwmanIaLEn (SPCC)
§0: 819 (R), Tuaaw (N), &3t (UR)
® NMIIANIIRIMNTN:
shgunck: Tulasden (MFCr)
usl K-420A Niliiusugudnanide ¢32 aziiu
fguiinzfiadavlasiug (MFZn-C)
K-415EA-75-R K-415A-75-R e gUnInifiuuuN: Roarniviaen
naldnu e gunsstamnalvguazamanane/uiudfifenun,
sodudReIwIALEN
(K-415EA - K-420EA] (K-415A - K-420A) dvuads @ Bufnnigiu...niandadedauninieiinua
/ HOU qINpU
it g e fafiflifurugudnas ¢32 alaldnmianiuin
e nanAnN iz uEALUUN S aNIINEN IR e N
UHIREUENaS ¢32
o K-415A, K-420A H1szinn M12 (Aad 1.25) ua
M, W3/8 ¢ (8ntin ¢32)
M o SAE fiffadwiriniu UNF (indengilndriinaziden)
~ ] Specifi- ® Material: Main body: Cold rolled steel plate (SPCC).
T « cations Wheel: Rubber (R), nylon (N), or urethane (UR)
T ® Finish: Main body: Chrome plating (MFCr). However, K-420A
with wheel diameter of $32: Zinc plating chromate
treatment (MFZn-C)
/J . ® Accessories: Hex nut .
Specificuse ®Large or middle-sized equipment, benches and wagons
Remarks ® No stopper is available for wheel diameter of ¢32.
= b ® Mass shows the unit with stopper except for wheel diameter
| g T | a I of $32. )
(DD a ¢D A . aﬂlgézltg;;fpl?;) ;grzj)\'NS/S are available for K-415A and
® SAE has same dimensions as UNF (unified fine thread).
L L W luasazusasioyadesn
W on the table indicates rubber-used wheel.
e i AiSUIEN| soan@nd (g) Rbbaamdﬂ ol Nlﬁﬂufj‘a‘?‘ : Uthﬁﬂiﬁl‘f&uh ‘
T o w0 | 0p | 1o a1 | w " = A:||0W?b|e |?ad . M?ss ) ubber-used wheel | Nylon-used wheel | Urethane-used whee
Product No. 0% IcAD|Remarks 2 Slewing | AR | #N [§0 UR| &R | Ao N | doUR 7 e .
radius | R-used | N-used | UR-used | R-used |N-used | UR-used
wheel | wheel | wheel | wheel | wheel | wheel Code Code Code
K-415EA-50- (38 Wheel) | @ 20530 50/68|35|21/20|M12X1.75|65| 58 |294|392|392| 250/200210 30188 30194 30771
K-415EA-65- (#a Wheel) | @ |20530 65(85|35(24|21|M12X1.75|66| 62 | 294|392 300|250 30189 30195
K-415EA-75- (88 Wheel) | @ 20530 W%f\;]\;{;w“ 75|95/35|29|21/M12X1.75|74| 68 |392|490 350|300 30190 30196
K-415EA-100- (&8 Wheel) | @ |20/30 Stoy:l)per 100|126/40|30|27| M16X2.0 |88| 83 [490|588|588| 750|550 600 30191 30197 30210
K-415EA-125- (&8 Wheel) | @ |20/30 125/152140|39|27 | M16X2.0 |99|103 588|686 |686| 900|650 700 30192 30198 30211
K-415EA-150- (&8 Wheel) | @ |20/30 150179404227 | M16X2.0 102|118 |588 1,200 30193
K-420EA-50- (88 Wheel) | @ 20530 50/68|35|21/20|M12X1.75 47 1294/392|392| 250/200|210 30290 30296 30773
K-420EA-65- (80 Wheel) | @ |2030 65|85(35|24(21 /M12X1.75 58 1294|392 300|250 30291 30297
K-420EA-75- (80 Wheel) | @ |20/ \;l\;i'ffl\mnt 75|95(35|29(21 M12X1.75 68 392|490 350|300 30292 30298
K-420EA-100- (d0 Wheel) | ® |20 ionoer 1100[126[40[30|27| M16x2.0 || 83 [490|588|588| 750|550 600| 30293 30299 30312
K-420EA-125- (8 Wheel) | @ |20/30 125/152140|39|27| M16X2.0 103|588 |686|686| 900|650|700 30294 30300 30313
K-420EA-150- (82 Wheel) | @ |2030 1501791404227 | M16X2.0 118|588 1,200 30295
@ : winAATETUNTFUTEIRHINATZIN ROHST0 A | §13NINFUIBIANATATZIH ROHS 10
RoHS - i ASulR N| anandaio (g) . bbi’iaﬂ'&qh 1 lﬁalufg'mﬁ I
T RUA —= i PO (TRITR Y M R | mom Allowablevload . Masgv ubber-used wheel | Nylon-used whel
Product No. Ao R|d8N|CAD| Remarks 1]tz (UNF) Slewing | @R | AaN | d@R | AN 5 o
Reused | N-used radius | R-used | N-used | R-used | N-used Cod Cod
wheel | wheel wheel | wheel | wheel | wheel oade oae
K-415A-40- (88 Wheel) | ® | @ |20/ 40|60|14|20|17| SAEV4X20 42 | 58| 51 196 | 294 | 130 | 120 30152 30156
K-415A-50- (s Wheel) | ® | @ |20/ wWeowpsn |00/68/14/21]20] SAE'4X20 i | 65 58 294 | 392 | 210 | 180 30153 30157
K-415A-65- (8o Wheel) | ® | ® |:0|With stopper 65/85|14(24/21| SAEV5x20 (66| 62 | 294 | 392 | 270 | 200 | 30154 30158
K-415A-75- (&8 Wheel) | ® | @ |20/ 75|95|14|29/21| SAEV4X204h | 74| 68 392 | 490 | 310 | 230 30155 30159
K-420A-32- (88 Wheel) | ® | @ |20/ 32|47(14]12|14| SAE3/4X24 29 117.6| 196 60 50 30251 30256
K-420A-40- (s Wheel) | ® | @ |20/ Lifan 40(60[14|20/17| SAEV4X20 iia 41 196 | 294 | 130 | 120 30252 30257
K-420A-50- (&2 Wheel) | ® | ® |030|  Without |50/68|14/21|20| SAE'4X20 ih 47 294 | 392 | 210 | 180 30253 30258
K-420A-65- (§e Wheel) | ® | @ || SOPPET  65lgsi14]24]21] sAE!5%20 i) 58 | 294 | 392 | 270 | 200 | 30254 30259
K-420A-75- (&8 Wheel) | ® | @ |20/ 75|95|14(29/21| SAE/4X20 i1 68 392 | 490 | 310 | 230 30255 30260

@ : WANAUTAIATUNITTUIBINIHNNIATZIU ROHS 10 A §1H1I0TUIBIAINEIATFIU ROHS 10

Suszau

1

P |
BRINENY

f3
5191R0%

—

K

Qnde
R B

v o4
[aLaan

CASTERS

o
anded

fandansiaiy

LNINN

gndouuudl
seuuliy

fovizg

v
[OUDY
Qﬂllﬁ]i‘l

nofinod
075

fysuy
AU

foauiln
ey

Tula

Eatlaiins

TAKIGEN
wan 24

1525





